[ Efficiency vs vertpos |

HE

o
©
TT LT IIIIIIIIIIII‘

0.8 :
1072 10

—s— DQM_VUUUI_RUUUU0U000T _Global —_CMSSW 071G
—— DQM_V0001_R000000001__Global _CMSSW _pl08
|:Efficienc —— DQM_V0001_R000000001__Global _CMSSW pl075

—— DQM_V0001_R000000001 _Global__CMSSW pl07
~ 0.1

$0.09
(2]
>0.08
>
2
§0.07
o
£0.06
(]
0.05
0.04
0.03
0.02
0.01

Ratio
=

T T T[T T T T[T I [T T TTTT[TTTTITTT

=30 -20 -10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

>

a 0.09

IS

7 0.08

£0.07

2y

< 0.06

@

o

£0.05

5}
0.04F
0.03f
0.02
0.03

O

[
ELTL]CEECREE

Ratio
=
T T T T T T T T I CITrrIrT
i
1
Ll

10 15 20
Sim. PV z (cm)

|

o
I

o1



	Contents
	Page 1


